H. Geometry – Bellwork #62		Date: __________
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5. Use the information in the diagram to determine the height of the tree.
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1.1f AC=16 and BD = 24, find the lengths of the midsegments of AABC and AADB.
B

D
~ midsegment of AABC =12, midsegment of AADB =8

~ midsegment of AABC = 8, midsegment of AADB =12
~ midsegment of AABC = 32, midsegment of AADB = 48
~ midsegment of AABC = 48, midsegment of AADB = 32
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2. Points B, D, and Fare midpoints of the sides of AACE. EC= 40 and DF = 18.
a. Find AC.

b. Find FB.
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3. Find the value of x.
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4. Bis the midpoint of a2, D is the midpoint of CE, and BD = 14. Find AE.
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